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Read the following instructions carefully before you

begin to answer the questions.

] INSTRUCTIONS TO CANDIDATES

1. This booklet contains 175 questions to be answered in a separate OMR Answer Sheet using Black Ball Pen
m following four parts:

Part-A-General English : 25 questions,

Part-B-General Knowledge & Aptitude : 50 questions,
Part-C- General Awareness of Motor vehicle : 50 questions,
Part-D- Motor Vehicle Act (1988) : 50 questions

All Questions are compulsory.

3. You will be supplied the Answer sheet separately by the invigilator. You must complete the details of
particulars asked for.

4. Answers must be shown by completely blackening the corresponding circles in the Answer Sheet against
the relevant question number by Black Ball Pen. OMR Answer Sheet without marking series/double series
marking shall not be evaluated.

Example :

Supposing the following question is asked :-

The Capital of Meghalaya is-
A. Guwabhati

B. Kohima

C. Shillong

D. Delhi

You will have four alternatives in the Answer Sheet for your response corresponding to each question of the

Question Booklet as below :-
® ®O00o

In the above illustration, if your chosen response is alternative C i.e. Shillong, then the same should be marked on
the Answer Sheet by blackening the relevant circle with a Black Ball Point Pen only as below :-

ONCN 1O

WHICHIS THE ONLY CORRECT METHOD OFANSWERING

5. Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy.
Do not spend too much time on any one question.

6. There will NOT be any negative marking for wrong answers.

7. The Answer Sheet must be handed over to the invigilator before you leave the Examination Hall.

8.

No rough work is to be done on the Answer Sheet. Space for rough work has been provided in the
question booklet.
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Fach guesiion carries 2 marks :

Directions : Choose the correct preposi-
tion for the following :

1. Theblame came heavily  them

a) Against b) On

¢) Upon d) With

2. She presented her paper _ ease.

a) With b) At

¢)By d)In

3. The Board of Directors will discuss  an
emergent agenda.

a) For by With

) On d) Besides

4. The investivators have been provided

all requiced details.

a)In b) On

) With d) For

5. There was a parrot standing  the tree
stump.

a) On b)In

¢) Between d) Under

Directions : Choose the correct form of
verb for the following :

6. He to protect me over the years.
a) Tries b) Tried
¢) Has tried d) Was trying

7. Thecall  averylongtime while I sat on
the chair.
a) Takes
¢) Is taking

b) Took
d) Has taken

8. The monitor showed that his heartbeat
down.

a) Drops b) Dropped

¢) Was dropping d) Had dropped
9.1lc  healthy food.
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a) Enjoys

¢) Has enjoyed

Directions : Chaoose a word which is clos-
est in meaning to the following underlined
words :

11. His conjecture was better than mine

a) Guess b) Experience
¢) Knowledge d} Intuition

12. His estranged spouse was seen at the court.
a) Troubled b) Divorced
¢) Separated d) Betrothed

13. The young boys have been enticed by the
big offers.

a) Tricked b) Bought
¢)Led d) Attracted

14. Her heart kept riveting to the misery of lone-
liness.

a) Gripping b) Pointing
¢)Aching d) Battling

15. They were mortified by his behavior.
a) Alarmed b) Embarrassed
¢) Ruined d) Angered

Directions : Choose the word that is most
opposite in meaning to the given words :

16. Dismal

a)Big b) Good
¢) Cheerful d) Plain
17. Prudent

a) Indiscreet b) Lowly
¢) Bold d) Learned

18. Sturdy

[



a) Stff b) Weak
c) Strong d) Flexible

19. Random

a) Specific b) Off
¢) Complete d) Brief
20. Urge

a) End b) Resist
c) Take d) Deter

Directions : In the following, choose the
alternative which best expresses the
meaning of the given Idiom / Phrase:

21. To live a fast life
a) To be in anger

b) To live for oneself
¢) To live in pleasures
d) Atroublesome life

22. The long and the short
a) The gist b) A road ahead
¢) Shortcomings d) A paragraph

23. Without rhyme or reason
a) With no meaning

b) Without structure

c¢) Without bad intention

d) Without a cause

24. Scot free
a) Free from trial b) Unpunished
¢) Guiltless d) Justified

25. Hard and fast

a) Strict b) Disciplined
¢) Upright d)Rigid
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PART - B-GENERAL KNOWLEDGE & APTITUDE

Marks :

Each question carries 2 marks :

26. The states/countries surrounding the state
of Sikkim are

a) Bihar, China, Nepal, West Bengal

b) West Bengal, China, Nepal, Bhutan

¢) China, Bhutan, Bihar, Arunachal Pradesh

d) Nepal, West Bengal and China

27. The Rajiv Gandhi Orang National Park is
situated in the state of (
a) Arunachal Pradesh
¢) Assam,

b) Sikkim
d) Tripura

28. The Grand Trunk Road or GT Road con-
nects

a) India and Bangladesh only

b) India and Pakistan only

¢) India, Pakistan and Bangladesh

d) India and Bhutan

29. The practice of gathering and preserving
evidence from a particular computing device in
a way that is suitable for presentation in a court
of law 1s called
a) Robotics

¢) Simulation

b) Animation
d) Computer forensics

30. The world’s smallest country is
a) Maldives b) Vatican City
¢) Canada d) Russia

31. Which language is mostly spoken in
Karnataka ?
a) Malayalam
¢) Marathi

b) Kannada
d) Hindi

32. For which of the following disciplines is
Nobel Prize awarded ?

a) Literature, Peace, Economics

b) Physics, Chemistry

c) Physiology or Medicine

d) All of the above

33. The Swaraj Party was formed by
a) Jawaharlal Nehru

b) Bal Gangadhar Tilak

¢) M. K. Gandhi

d) C. R. Das
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34. Which Indian state was earlier known as
Magadha ?

a) Madhya Pradesh b) Uttar Pradesh

c¢) Bihar d) Kamataka

35. Jupiter is the planet from the Sun
a) First b) Fourth

¢) Fifth d) Sixth

36. The land frontier of India is about 15200
KM. Which country out of the following shares
the longest border with India ?

a) Bangladesh b) China

¢) Nepal d) Pakistan

37. The fast decrease m forest cover is mainly
due to the increase in

a) Political parties b) GDP
c) Banking system d) Population

38, Which crop is sown on the largest area in
India ?
a) Rice
¢) Sugarcane

b) Wheat
d) Maize

39. The state which has the largest number of
sugar mills in India is
a) Bihar

¢) Punjab

b) Harvana
d) Uttar Pradesh

40. The Indian, who holds the pride of beating
the computers in mathematical wizard is

a) Shakuntala Devi b) Raja Ramanna

¢) Ramanujam d) Rina Panigrahi

41. Which is the first private space company to
send astronauts into space ?

a) Blue Origin b) Tesla

¢) SpaceX d) Orbital

42. Which of the following is not the basic ca-
pability of a computer ?
a) Speed

¢) Prediction

b) Accuracy
d) Processing

43. What is the full form of Wi-Fi ?
a) Wireless Fidelity b) Wireless Find
c) Wireless Function ~ d) Wireless Fibre
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a) A RDBMS

b) An OODBMS

¢) An ORDBMS

d) A Network Database Model

45, A dangerous program that can get down-
loaded by opening E-mail attachments is

a) Virus b) Spam

¢) Utility d) None of the above

46. The practice of Gond art is seen the most
n

a) Bihar b) Jharkhand

¢) Himachal Pradesh  d) Madhya Pradesh

47. Rashtrapati Bhavan was designed by
a) FW Stevens b) G Wittet
¢ FS Growse d) Sir Edwin Lutyens

48. Vande Mataram was composed in which
Indian language ?

a) Hindi b) Pali

¢) Sanskrit d) Urdu

49. Film and TV mstitute of India 1s located at
a) Pune (Maharashtra)

b) Rajkot (Gujarat)

¢) Pimpri (Maharashtra)

d) Perambur (Tamil Nadu)

50. The ozone layer restricts
a) Visible light

b) Infrared radiation

¢) X-rays and gamma rays
d) Ultraviolet radiation

51. In the given series, find the number that
does not match the series : 625, 125, 25,5, 0
a)0 b) 125

c) 625 d) 25

52. Complete the given series selecting an op-
tion from those give below : 3, 8, 15, 24, 35, ..
a) 65 b) 50
c) 48 d) 80

53. Look at this sertes : 12, 11, 13, 12, 14, 13,
.... What number should come next 7

a) 10 b) 16

¢) 13 d) 15

54. RQP, ONM, ,JHG FED, find the miss-
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g letters
a) CDE by LKI
¢y LKJ d) BAC

55, Petal : Flower

a) Pen : Paper b) Engine : Car

¢) Cat : Dog d) Ball : Game
56. Which word is the odd one ?

a) Inch b) Kilogram
¢) Centimetre d) Yard

57. Pointing to a photograph, a man said, “T have
no brother, and that man’s father is my father’s
son.” Whose photograph was it ?

a) His son b) His own

c) His father d) His nephew

58. If in a certain language, NOIDA is coded as
OPJEB, how 1s DELHI coded in that language ?
a) CDKGH b) EFMIJ
¢) FGNJK d) IHLED

59. What number should come after : 2, 1, (1/2),
/4y, ... ?

a) (1/3) b) (1/8)

¢) (2/3) d) (1/16)

60. Look at this series : 36, 34, 30, 28, 24, ...
What number should come next ?

a) 20 b) 22

c) 23 d) 26

61. If after a discount of 10%, an article was
bought for Rs.450, what was the original price ?
a) Rs.405 b) Rs.550
¢) Rs.500 d) Rs.600

62. An article with marked price Rs.900 was sold
at a profit of 15%. What was the selling price ?
a) Rs.1035 b) Rs.1000
c) Rs.915 d) Rs.2035

63. The population of a town was 20,00,000 i
the year 2000. In the year 2020, it increased to
36,00,000. The average percent annual increase

in population is
a) 4% b) 40%
c) 0.4% d) 18%

64. Working alone, a man can plough a field in 7
days. How much time will 14 men take to plough
the same field working together ?
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a) 98 days b) 1 day
¢) 0.5 day

65. The perimeter of an equilateral triangle
whose height is 3.46 cm is : (Take /3 = 1.73)

a) 12 b) 9
)6 d)10.4

66. The diagonal of a square is of length 5./2 m.
The length of its side is
a) 25m

¢) 15m d) 5Sm

67. On certain days in winter, the temperature
falls down to 32° F. In centigrade, the tempera-
ture is
a) 32°C
c)0°C

b) 05° C
d)15° C

68. The area of a room is 144 sq ft. Its area in
m’ is

a) 13.38 m? b) 12 m?

c) 1.338 m? d) 133.8 m?
69. Paw : Cat :: Hoof :

a) Lion b) Horse

¢) Elephant d) Tiger

70. Which letter should come next in the series
EGHJLELMNE .

a) Q b)R

)T d) O

71. Which letter should come next in the series,
QLER ¢

a) A b)Z

c) C d) X

72. Marathon is to race as hibernation is to
a) Bear b) Dream

c) Sleep d) Winter

73. Water : Pitcher .- : Vase

a) Fruits b) Flowers

¢) Ice d) None of these

74. Look at the series, 77, 70, 63, 56, 49, .
Which number should come next ?

a) 42 b) 46
c) 44 d) 48
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75. Find the wrong number in the series, 2, 6,

15,31, 56,93
a) 93 b) 15
¢) 31 d) 56



PART - C-GENERAL AWARENESS OF MOTOR VEHICLE

Marks :100

Each question carries 2 marks :

76. The basic automobile structure consists of
frame, axles, wheels and

a) Steering b) Suspension

¢) Brakes d) Differential gear

77. What carries the driving wheels of a ve-
hicle? »

a) Crankshaft b) Crank and shider

¢) Propeller shaft d) Axles

78. The hand brake usually operates on
a) Right wheels b) Left wheels
¢) Rear wheels d) Front wheels

79. Side members of frame may undergo lat-
eral bending due to

a) Weight of vehicle

b) Engine torque

¢) Side wind

d) Sudden impact during collision

80. Which is not a part of automobile transmis-
sion system ?

a) Clutch b) Gearbox

¢) Axles d) Differential gear

81. The clutch is located between the engine
and

a) Gearbox b) Differential gear

¢) Rear axle d) Universal joint

82. The pressure plate is held against the clutch
plate by

a) Struts b) Levers

c¢) Thrust bearings d) Springs

83. The automobile gears are generally made
of

a) Cast iron b) Mild steel

c) Alloy steel d) Cast steel

84. The function of differential gear in automo-
biles is to

a) Facilitate reverse operation of the vehicle
b) Reduce tyre wear at high speeds

c) Distribute equal torque between wheels

d) Take care of difference in speeds of rear
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wheels

85. Suggest the type of spring widely used for
suspension in light and heavy commercial ve-
hicles

a) Torsion bar

b) Semi-elliptic leaf spring

c¢) Tapered leaf spring

d) Coil springs

86. The function of the shackle with a leaf spring
isto

a) Allow the spring length to change

b) Allow pivoting of spring end

¢) Provide good traction

d) Prevent squeaking sound

87. What is the main shaft of an engine that
controls the movement of piston ?

a) Axle b) Drive shaft

¢) Crankshaft d) Camshaft

88. The minimum number of rings in a piston
are

a) Two b) Three

¢) Four d) Six

89. Wheel base of a vehicle refers to

a) Distance between front tyres

b) Distance between rear tyres

¢) Distance between front and rear axles
d) Width of tyres

90. An automobile engine is usually mounted at

____ points.
a) Two b) Three
¢) Four d) Five

91. The compression ratio of an IC engine is
the ratio of

a) Swept volume to clearance volume

b) Total cylinder volume to clearance volume
c) Total cylinder volume to swept volume

d) Pressure after compression to that before
compression

92. Scavenging air means

a) Air sent under compression
b) Air used for forcing the burnt gases out of the
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cylinder during the exhaust period
¢) Forced air cooling the engine cylinder

“d) Burnt air containing combustion products

93. A four stroke petrol engine theoretically op-
erates on

a) Otto cycle
c) Joule cycle

b) Brayton cycle
d) Bell Coleman cycle

94. A diesel engine is usually more efficient than
a spark ignition engine because

a) Diesel being a heavier hydrocarbon releases
more heat per kg than gasoline

b) The air standard efficiency of diesel cycle is
higher than that of otto cycle, at a fixed com-
pression ratio.

c) The compression ratio of a diesel engine is
higher than that of SI engine

d) Self ignition temterature of diesel is higher
than that of gasoline

95. Vapour lock refers to

a) Supply of air-fuel mixture containing liquid
particles

b) Blocking of carburetor jets

¢) Excess supply of fuel to engine

d) Complete or partial stoppage of fuel supply
due to vapourisation of fuel in the supply line

96. What is often called the fuel of future ?
a) Hydrogen b) Methane
¢) Ethanol d) Natural gas

97. The ignition coil in automobile acts as a
a) Rectifier b) Switch
c) Step-up transformer d) Dc to ac converter

98. A particular firing order is necessary in a
multi-cylinder so as to

a) Have better balance of the engine

b) Give good distribution of fuel to all the cylin-
ders

¢) Obtain uniform torque
d) Operate the ignition system smoothly

99. Method of governing used in diesel engines
is

a) Quality governing

b) Quantity governing

¢) Hit and miss governing
d) By-pass system

100. Knocking tendency in SI engine reduces
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with increasing
a) Compression ratio b)) Wall temperature
¢) Supercharging d) Engine speed

101. The primary function of lubrication mn an
automobile engine is to

a) Reduced friction between moving parts

b) Remove heat from the cylinder and bearings
¢) Provide cushion to the moving parts against
shock and vibration

d) Avoid leakage of charge by providing effec-
tive scaling

102. Most commonly used lubricant in automo-
bile engine is
a) Vegetable oil
¢) Animal o1l

b) Mineral oil
d) Synthetic oil

103. A fan is provided in the water cooling sys-
tem to

a) Draw the air through the radiator

b) Provide drive to the water pump

¢) Cool the engine by blowing air over it

d) Increase flow of coolant

104. The brake emploved in cars are usually
operated

a) Mechanically

b) Hydraulically

¢) By means of engine vacuum

d) By compressed air

105, Most proper manual steering gear for cars
today is

a) Rack and pinion tyre

b) Worm and wheel tyre

¢) Cam and roller tyre

d) Worm and nut tyre

106. The smallest gears inside the differential
casing are

a) Pinion gears
¢) Side gears

b) Sun gears
d) Ring gears

107. Heel and toe wear in tyres is caused by
a) Excessive acceleration and braking

b) Over inflation

¢) Under inflation

d) Excessive camber

108. Increase of torque in a vehicle is obtained
by
a) Decreasing speed



b) Decreasing power
¢) Decreasing petrol consumption
d) Al of the above

109. Which 1s the common component between
a petrol and a diesel engine ?

a) Crankshaft b) Dynamo

¢) Exhaust silencer d) Spray nozzle

110. Engine is located forward, rear or under
floor mainly to

a) Better utilize the space

b) Increase fuel economy

¢) Have better weight distribution

d) Reduce the weight of the chassis

111. Carbon monoxide is generated when en-
gine runs on

a) Lean mixture

b) Rich mixture

¢) Chemically correct mixture

d) Cruising speed

112. The object of air conditioning a car is to
control there in the

a) Temperature and pressure

b) Pressure and humidity

¢) Hunudity and temperature

d) Temperature, humidity and pressure

113. A maintenance-free battery
a) Has lead-antimony plate grid
b) Has lead-calcium plate grid

¢) Does not contain acid

d) Does not contain water

114. Which of the following is not a part of the
chassis ?

a) Wheels b) Differential

¢) Gear box d) Seats

115. Identify the parts that must be added to the
piston to ensure a good seal with the cylinder
a) Piston pins b) Piston rings

¢) Gaskets d) Liners

116. Morse test in a multi cylinder engine is done
to determine

a) Air-flow to engine

b) Volumetric efficiency

¢) Indicated power

d) Torque output

117. The most commonly used friction material
for clutch facings is

a) Cork b) Fabric
AN A sl L s A T aadlones
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a) Flywheel b) Crankshaft
¢) Clutch cover d) Friction plate

119. Identify the type of gear box where it is
possibie to shift the gear from neutrai to any other
position or vice versa

a) Selective gear box

b) Progressive gear box

¢) Planetary gear box

d) Any of the above mentioned gear box

120. Which of the following control pedals are
required by an automatic transmission system ?
a) Clutch and brake pedals

b) Brake and acceleration pedals

¢) Acceleration and clutch pedals

d) Acceleration, brake and clutch pedals

121, The term caster is associated with
a) Suspension system

b) Braking system

¢) Transmission system

d) Steering system

122. Which 1s the core element of any suspen-
sion system ?

a) Ball joints  b) Control arm

¢) Spring d) Wheel spindle assembly

123. Identify the gas used in modern shock ab-
sorbers

a) Oxygen b) Hydrogen

¢) Nitrogen d) Carbon dioxide

124. Due to prolonged application of brakes, the
effectiveness decreases. This is called

a) Brake binding b) Brake fading

¢) Brake compensation d) Brake bleeding

125. The purpose of well in a wheel rim 1s to
a) Lock the tyre on to the rim

b) Allow easy removal and fitting of tyre

¢) Prevent dislodging of tyre during severe cor-
nering

d) Expose the valve of mner tube



PART - D-MOTOR VEHICLEACT (1988)

Marks :100

Each question carries 2 marks :

126. When did the Motor Vehicle Act, 1988,
come into force ?
a) 01 April 1989
¢) 01 July 1989

b) 01 March 1988
d) 01 April 1988

127. Under which Chapter of the Act, the is-
sue of the “driving license’ is mentioned ?

a) Chapter IV b) Chapter I1I

c¢) Chapter 1 d) Chapter 11

128. Under which Section of the Act, the grant
of driving license to any personis provided 7
a) Section 12 b) Section 9

¢) Section 8 d) Section 10

129. What is the time period for the applicant
to re-appear in the test for ‘driving license’ ?
a) Five days b) Ten days

¢) Seven days d) Fifteen days

130. According to the Motor Vehicle Act,
1988, the age limit in connection with driving
of motor vehicle

a) 18 years and above

b) Less than 18 years

¢) 15 years and above

d) None of the above

131. An application for compensation arising
out of accident of the nature specified in Sec-
tion 165 may be made

a) By the person who has sustained the injury
b) By the owner of the property

c¢) Where death has resulted from the accident,
by all or any of the legal representative

d) All of the above

132. What is provided under Section 12 of
the Act ?

a) Registration Certificate

b) Licensing and regulation of schools or es-
tablishments for imparting instruction in driving
aof motor vehicles
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¢) Driver license in driving of motor vehicle
d) None of the above

133. Alearner’s licence issued under this Act is
effective for aperiod of  fromthe date of
issue of the licence.
a) Three months

¢) Six months

b) Five months
d) Seven months

134. Adriving licence issued or renewed under
this Act by Motor Vehicle (Amendment Act),
2019 shall, in the case of a licence to drive a
transport vehicle is effective for a period of

a) Two years b) Five years

¢) Four years d) Three years

135. Adriving licence issued or renewed under
this Act shall, in the case of licence to drive a
transport vehicle carrying goods of dangerous
or hazardous nature is effective for a period of
a) Five years b) Four years
c¢) Three years d) Two years

136. Whenever, being the owner or person in
charge of'a motor vehicle, causes or permits,
any other person who does not satisfy the pro-
vision of Section 3 or Section 4 of the Act to
drive the vehicle shall be punishable with -

a) Imprisonment for a term which may extend
to six months or with fine which may extend to
one thousand rupees, or with both

b) Imprisonment for a term which may extend
to three months or with fine which may extend
to five thousand rupees, or with both

¢) Imprisonment for a term which may extend
to one month or with fine which may extend to
five thousand rupees, or with both

d) None of the above

137. What are the grounds for disqualification
from holding a driving licence or revocation of
such licence ?

a) Ahabitual criminal or a habitual drunkard or
addict to any narcotic drug or psychotropic
substance



b) Obtained by any fraud or misrepresentation
¢) Commission of any nuisance or danger to
the public

d) All of the above

138. In which section of the Act endorsement
is mentioned ?
a) Section 21
¢) Section 24

b) Section 22
d) Section 25

139. Under which Section of the Act Suspen-
sion of driving licence in certain cases is pre-
scribed ? ‘
a) Section 21
c¢) Section 22

b) Section 24
d) Section 23

140. Under which Section of the Act, the grant-
ing of conductor’s license to any person is pro-
vided ?

a) Section 32
¢) Section 29

b) Section 30
d) Section 33

141. What are the disqualifications for the grant
of conductor’s licence ?

a) No person shall be under the age of eigh-
teen years.

b) He does not possess the minimum educa-
tional qualification.

¢) He is physically unfit to act as a conductor.

d) All of the above

142. What are the reasonable grounds men-
tioned under the Act for revocation of driving
licence ?

a) Any disease or incapacity or incompetency.
b) Any disease or disability

¢) Any disease and misconduct

d) lliness and fraudulent act

143. Under which Chapter ofthe Act, the reg-
istration of motor vehicle is mentioned ?

a) Chapter 111 b) Chapter V

¢) Chapter IV d) Chapter VI

144. What is mentioned under Section 47 of
the Act ?

a) Assignment of new registration mark on re-
moval to another State.
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b) Effectiveness in India of registration.
c¢) No objection certificate.
d) None of'the above

145, Under which Section of the Act the change
of residence or place of business of the owner
of'a motor vehicle is provided ?

a) Section 48 b) Section 49

¢) Section 50 d) Section 51

146. Match the following :

L. Alteration in motor vehicle
I1. Transfer of ownership

1. Necesstty for registration
IV. Effectiveness in India of
registration

1. Section 50
1. Section 46
1. Section 52

v. Section 39

2) L (i), 11 (iii), 1T (iv), TV (i)
b) 1 Gii), TI (iv), TI (i), TV (i)
o) L(iii), 1 (), 111 Giv), IV (i)

d) 1 (i), TI (iii), T (i), TV (iv)

147. What is the penalty for failure of intimat-
ing the new address to the concerned register-
ing authority within the period specified by the
owner of the motor vehicle by the Motor Ve-
hicle (Amendment) Act, 2019 ?

a) Not exceeding one hundred rupees

b) Not exceeding five hundred rupees

¢) Not exceeding five thousand rupees

d) Not exceeding one thousand rupees

148. The transteror shall report the transfer of
ownership in the case of a vehicle registered in
the same State within

a) Twelve days of the transfer

b) Thirteen days of the transfer

c¢) Fourteen days of the transfer

d) Fifteen days of the transfer

149. The transferor shall report the transfer of
ownership in the case of a vehicle registered
outside the State within .

a) Thirty days of the transfer

b) Forty-five days of the transfer

¢) Fifty days of the transfer

d) Fifty-five days of the transfer
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150. The transferee shall report the transfer of
ownership to the registering authority within

a) Thirty days of the transfer

b) Forty-five days of the transfer
¢) Fifty days of the transfer

d) Fifty-five days of the transfer

151. Alteration in motor vehicle is mentioned
under which Section of the Act ?

a) Section 48 b) Section 49

¢) Section 51 d) Section 52

152. Certificate of fitness of transport vehicles
is mentioned under which section ?

a) Section 61 b) Section 56

c) Section 57 d) Section 60

153. Which is the correct statement for wear-
ing headgear under the Act ?

a) A person who is a Sikh and not wearing a
turban in public place.

b) Every person below and above four years
ofage.

c) Every person above four years of age.

d) None of the above

154. Who can grant a private service vehicle
permit ?

a) Central Transport Authority.

b) State Transport Authority.

¢) Regional Transport Authority.

d) District Transport Authority.

155. What is included in the application of
goods carriage permit ?

a) The design of the vehicle

b) The arrangement intended to be made for
the housing, maintenance and repair of the ve-
hicle and for the storage and safe custody of
the goods

¢) The area or the route or routes to which the

application does not relate
d) All of the above

156. Who can grant goods carriage permit ?
a) Regional Transport Authority.
b) Central Transport Authority.
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¢) District Transport Authority.
d) State Transport Authority.

157. A permit may be renewed on an applica-
tion made under the Act .

a) Not less than seven days before the date of
its expiry.

b) Not less than fifteen days before the date of
its expiry.

¢) Not less than Twenty days before the date
of its expiry.

d) Not less than Thirty days before the date of
its expiry.

158. Under what grounds, the transport au-
thority can grant cancellation and suspension
of permits

a) If holder of the permit uses or causes or al-
lows a vehicle to be used not authorised by the
permit.

b) If the holder of the permit ceases to own the
vehicle covered by the permut.

c) If the holder of the permit has obtained the
permit by fraud or misrepresentation.

d) All of the above

159. Regional Transport Authority and the State
Transport Authority shall authorise the use of a
transport vehicle temporarily for a period of
a) Not in any case exceeding two months.

b) Not in any case exceeding three months.

¢) Not in any case exceeding four months.

d) Not in any case exceeding six months.

160. Which Act deal with the hours of work of
any person engaged for operating a transport
vehicle ?

a) Motor Transport and Conveyance Workers
Act, 1961.

b) Motor Transportation Workers Act, 1961.

¢) Motor Transport Workers Act, 1961.

d) None of the above

161. In which section the duty to obey traffic
signs is mentioned ?
a) Section 112
¢) Section 119

b) Section 118
d) Section 117



162. Mandatory traffic sign is included in which
part of the schedule ?

a) Part D of the Schedule.

b) Part C of the Schedule.

¢) Part B of the Schedule.

d) Part A of the Schedule.

163. A two-wheeled motorcycle shall carry :
a) More than one person

b) Not more than one person

¢) Not more than two person

d) None of the above

164. Examine the two statements regarding the
definition of the Protective headgear under the
Act:

i. Ahelmet which could reasonably be expected
to afford to the person driving or riding on a
motorcycle a degree of protection from injury
in the event of an accident;

ii. A helmet which could be securely fastened
to the head of the wearer by means of straps
or other fastenings

a) Only (i) is true and (ii) is false
b) Only (i) is false and (1) is true
¢) Both (i) and (i1) is true
d) Both (i) and (ii) is false

165. What is the doctrine mentioned under
Section 149 of the Motor Vehicle Act, 1988 7
a) Doctrine of ‘Hit and Compensation’.

b) Doctrine of ‘Pay and Recover’.

¢) Doctrine of “Third Party Compensation’.
d) Doctrine of ‘Pay and Compensation’.

166. What is the purpose and utilisation of the
Motor Vehicle Fund ?

a) Treatment of the persons injured in road ac-
cidents under section 162.

b) Compensation to representatives of a per-
son who died in hit and run motor accident un-
der section 161.

¢) Compensation to a person grievously hurt in
a hit and run motor accident.

d) All of the above

167. A police officer in uniform may arrest with-
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out warrant any person who in his presence
commits an offence punishable under which
Section of the Act ?

a) 184 or 185 or 197

b) 146 or 192 or 198

c) 178 or 181 or 195

d) None of the above

168. The Constitution of one or more Motor
Accidents Claims Tribunals is provided under
which section ?
a) Section 165
¢) Section 168

b) Section 167
d) Section 170

169. The Claims Tribunal shall arrange to de-
liver copies of the award to the parties con-

cerned expenditiously and in any case within a
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period of from the date of the award.
a) Thirty days b) Ninety days
c) Fifteen days d) Sixty days

170. What is the amount of compensation in
respect of the death of any person resulting from
a hit and run motor accident ?

a) Sum of five lakh rupees or such higher
amount as may be prescribed by the Central
Government

b) Sum of two lakh rupees or such higher
amount as may be prescribed by the Central
Government

¢) Sum of'two lakh rupees or such higher amount
as may be prescribed by the Central Govern-
ment and State Government

d) Sum of three lakh rupees or such higher
amount as may be prescribed by the Central
Government and State Government

171. Which scheme is initiated by the Central
Government for the payment of compensation
to the victims of hit and run motor accident ?
a) Claims Settlement Scheme

b) Solatium Scheme

¢) Hit and run Scheme

d) Compensation Scheme

172. Whoever drives a motor vehicle at a speed
or in amanner which is dangerous to the public
shall be punishable ?



a) For first offence with imprisonment for a term
which may extend to three years but shall not
be less than six months or with fine which shall
not be less than three thousand rupees but may
extend to ten thousand rupees, or with both.
b) For first offence with imprisonment for a term
which may extend to two years but shall not be
less than six months or with fine which shall not
be less than two thousand rupees but may ex-
tend to five thousand rupees, or with both.

c) For first offence with imprisonment for a term
which may extend to one year but shall not be
less than six months or with fine which shall not
be less than one thousand rupees but may ex-
tend to five thousand rupees, or with both.

d) None of the above

173. What is amount of alcohol in the blood by
a drunken person or by a person under the in-
fluence of drugs is regarded as an offence for
driving vehicle ?

a) Exceeding 10 mg. per 100 ml. of blood

b) Exceeding 20 mg. per 100 ml. of blood

¢) Exceeding 30 mg. per 100 ml. of blood

d) Exceeding 40 mg. per 100 ml. of blood

174. Whoever drives a motor vehicle without
wearing a safety belt or carries passengers not
wearling seat belts shall be punishable

a) With a fine of five thousand rupees

b) With a fine of ten thousand rupees

¢) With a fine of one thousand rupees

d) With a fine of two thousand rupees

175. Penalty for not wearing protective head-
gear prescribed under the Motor Vehicle Act,
1988 is

a) Fine of five thousand rupees and shall be
disqualified for holding licence for a period of
five months.

b) Fine of one thousand rupees and shall be
disqualified for holding licence for a period of
three months.

¢) Fine of ten thousand rupees and shall be dis-
qualified for holding licence for a period of six
months.

d) None of the above
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